L{x) = cosx
™ = 5 ;
£(my= cos(F)=2 £'E=5
1
- + Tvati s ot = — l
H) Find the derivative of {{x) = arcsinx at X 3 (3 3
£i)= L i 4
\-x £(3)= o
'(l(\l): ._‘ - -\—-:."L :E
s -‘f—) G
lfferentl ion such that
(3‘ l f(B) = nd
m =8
The function g is differentiable and
g(x) = f1(x) for all x. What is the value
of g'(15)7
(15,3) oy

a) -1/2 (b) -1/8) ¢ 1/6  d) 1/3

e) Thevalue of g'(15) cannot be determined

V1
() Find the derivative of f{x) = sinx at K=—6“ (E . S-m"l_as _H(Tf‘

22|Page




£ ()

(i3

e 94
3

& "‘(xﬁ
(3%

m=3

2. Let f be a differentiable function such that
f(3)=5,f(8)=4) f'(3) = 6 and
f'8)=7:

The function g is differentiable and

(x) = IF1(x) for all x. What is the value
of g'(4)?

a)-1/2 b) -1/8 «¢) 1/6
e) The value of g'(4) cannot be determined

3. Letf be a differentigble function such that
{@)-518-44'G) = o
f'(8) =3. m=b
The function g is differentiable and

g(x) = fF1(x) for all x. What is the value
of g'(5)?

a) -1/2 b) -1/8 d) 1/3

e) Thevalueof g'(5) cannot be determined

| 4
4.1/ (2)=3,12)=7, an

what 1s the equation of the tangent line to g(x)
atx = -3?

A) ;;-’-2=-4§(x+3) B) y+2=§(x—3)

3 3
C) y-2=z(x+3) D) y+3=z(x—2)

E) y-2 =§(x+3)
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5.5f(2)=-3,(2)= ?, and g(x) =" (x).

what is the equation of the tangent line to g(x)
atx = =37

_1=—2 = f(x+3)

C) y2= %(x+3)

B) y+2=?(x—3)
D) y+2=%(x—3)

E) y-2= %(x+3}

6.Iff(2)=-3.f(2)= -—j—, and g(x)=f"(x),

what is the equation of the tangent line to g(x)
atx = -37
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